- R SERIAL NUMBERS PRODUCT NO.
Hi-Force  LOW PROFILE RATCHET HEAD FROM BS9755 TWH27NRH SHT 1 OF

2 SHTS
REVISION

1
2 3839

6102

IMPORTANT
WHEN ORDERING SPARES YOU MUST STATE THE FULL PART NUMBER AND THE
PRODUCT SERIAL NUMBER - FROM THE LABEL
TO PROTECT YOUR WARRANTY ALWAYS USE GENUINE HI-FORCE PARTS.

www.hi-force.com




SERIAL NUMBERS

PRODUCT NO.

2 ®
HHYDE.AEQMGTOOLS LOW PROFILE RATCHET HEAD FROM BS9755 TWH27NRH
ITEM NUMBER
RATCHET HEAD |HEX SIZEA/F 1X 2 X 3 4 5 6 7 8 9 10 11 12 13
SIDE PLATE (LEFT) | SIDE PLATE (RIGHT) | DRIVE PLATE | RATCHET WHEEL | DRIVE SEGMENT | UPPER SPACER | LOWER SPACER BEARING PIN |SPACER|SHROUD|LUMNK PIN| GUIDE
TWH2TNRH-101 |1.1/16" or 27T mm RHC027DG002 RHC027DC0O01 RHC027DD001 | RHCO27DR0O27 RHCO027D5001 RHC027DP001 | RHCO27DF0O01
TWH2TNRH-104 | 1.1/4" RHCO27EGD0O2 RHCO27ECO01 RHCO27EDO01 | RHCO27ERD31 RHCO027ES001 RHCO27EPO01 | RHCO27EFOO1
TWH27TNRH-107 [1.7/16" RHCO27F G002 RHCO27FC0O01 RHCO27FDO01 | RHCO27FR0O37 RHC027FS001 RHC0272P001 RHC027FP0O01 | RHCO27FFO01
TWH27TNRH-110 [1.5/8" or 41 mm RHC027GG002 RHC027GC0O01 RHC027GD001 | RHC027GR041 RHC027GS001 RHC027GP0O01 | RHCO27GF001 8 — o ~ -
TWH2TNRH-113 |1.13/M16" or 46 mm| RHC027HGO02 RHC027HCO01 RHC027HDO01 | RHCO27HRO46 RHCO027HS001 RHC027HP0O01 | RHCO27HFOO1 g § § § §
TWH2TNRH-200 |2" or 50 mm RHC0D271G002 RHCO027)C001 RHC0271D002 RHCO27IR050 RHC02715001 RHC027]P001 | RHCO27JF001 | M N 5 5 N~
™~
TWH27NRH-203 | 2.3/16" or 55 mm RHC027K G002 RHCO27KC001 RHC027K D002 | RHCO27KR0OS5 RHCO27KS001 | RHC027ZP003 | RHCO27KP0O01 | RHCO27KFOO1 % g o S %
TWH27TNRH-206 [2.3/8" or 60 mm RHC027LG002 RHC027LCO01 RHC027LD002 | RHCO27LR0OG0D RHC027LS001 RHC027ZP004 | RHC027LP001 | RHCO27LF001 E E E E E
TWH27TNRH-24 24 mm RHC027DG001 RHC027DC0O01 RHC027DD001 | RHCO027DR0O24 RHCO027D5001 RHC027DP001 | RHCO27DF001
TWHZTNRH-30 30 mm RHC027EGOOL RHCO27ECO01 RHC027EDOO1 RHCO27ER030 RHC027ES001 RHC027ZP001 | RHCO27EPD01 | RHCO27EF001
TWH2TNRH-32 32 mm RHC027EGOD3 RHCO27ERD32
TWH27TNRH-36 36 mm RHC027F G001 RHCO27FC001 RHCO027FD0O01 | RHCO27FR0O36 RHC027FS001 RHC027FP0O01 | RHCO27FFO01
ITEMS MARKED X ARE NOT AVAILABLE TO ORDER AS A SPARE PART
ITEMS 14 - 20 ARE ONLY AVAILABLE IN SERVICE KIT TWH27NRHTP1-K
ITEM NO. PART NUMBER DESCRIPTION QY.

14 SPCO05AA00] TORSION SPRING 1

15 SPC004CAQ01 COMPRESSION SPRING 1

16 BLC004-YO10 M4 x 10 SKT CAP HD SCREW STAINLESS 4

17 BLC006JX012 M8x30 SKT CSK SCREW - STAINLESS 4

18 BLC004-R008 M4 X 8 BUTTON HEAD SCREW STAINLESS 2

19 PCCO03RC004 SPRING PINDIA 3 x 16 LG 1

20 FAS004LD008 M4 x 8 DOG POINT SCREW STAINLESS 1

www.hi-force.com

SHT 2 OF
2 SHTS

REVISION

TO PROTECT YOUR WARRANTY ALWAYS USE GENUINE HI-FORCE PARTS.

IMPORTANT

PRODUCT SERIAL NUMBER - FROM THE LABEL

WHEN ORDERING SPARES YOU MUST STATE THE FULL PART NUMBER AND THE




	Sheet1
	Drawing View1

	Sheet2

